CF-AR(vE&NE N L7 + 07 (HENR)) CF-M-AR(Z 7 LARE)
CF-R-AR; (VAR bb?zﬂ?(hﬁﬁﬂ!‘)) CF-MR-AR(R7 Y L Afi&)

SHNIIEENRICES>TOET

Bs
: pde —
[ ]
CF12A~20-1A

T CF12AM~30-2AM
18
@tG REREICEDIREEA LS

LEFWRISLTWVEY

_|.C
B B2 b
B1 CF24A~CF30-2A
AGy RE FETE
SE (SR QU =S BOTE
f

d ROEE D C G G| B |Bi[Ba|Bs|Ci| di| da|H*|remn|&IV)
3 CF 3-A 10| 7 |[M3x05] 5 | 8 [17] 9 | — 05— | — [2(15][0.2] 6.8
4 |CF4-A 12 8 [Max07] 6 | 9 [20 11| —Jos5[— [ — [25(0[0.3] 8.6
5 CF 5-A 13| 9 |msx08/ 75102313 —|o5|— | — [3025]0.3] 9.7
6 |CFB6-A 16 |11 |[M6x1| 8 |12 28|16 | — |06]|—| — | 3 [0.3] 11
8 CF 8-A 19 | 11 [M8x125| 10 [12 [32 20| — |06|—| — | 4 [0.3] 13
10 |CF 10-A 22 [ 12 [mox125] 12 [13[36 |23 | — |06 |—| — | 5 |0.3] 15
10 [CF10-1-A [ 26 [ 12 [M10x125| 12 [13 |36 |23 | — [06|— | — | 5 [0.3] 15
12 [CF12-A 30 | 14 |[Mi2x15/ 13 [ 15|40 [25| 6 |06]| 6 | 3 | 6 |0.6]| 20
12 |CF12-1-A | 32|14 [Mi2x15/ 13| 15|40 | 25| 6 |06| 6 | 3 | 6 |06 20
16 |CF 16-A 35 | 18 [M16x15| 17 [19.5] 52 [325] 8 |08 6 | 3 | 6 |06 24
18 |CF 18-A 40 | 20 [M18x15] 19 [21.5] 58 [365] 8 |08 6 | 3 | 6 | 1 | 26
20 |CF 20-A 52 | 24 |[M20x15| 21 255/ 66 [405] 9 |08 8 | 4 | 8 | 1 | 36
20 |CF20-1-A | 47 | 24 |[M20x15] 21 [255]/ 66 [405] 9 |[08] 8 | 4 | 8 | 1 | 36
24 |CF 24-A 62 | 29 [M24x15| 25 |30.5[ 80 [49.5[ 11 |08 8 | 4 [ 8 | 1 [ 40
24 |CF24-1-A | 72| 29 |M24x15| 25 [30.5/ 80 [49.5/ 11 |0.8| 8 | 4 | 8 | 1 | 40
30 |CF30-A 80 | 35 |[M30x15| 32 [37 [100/63 15| 1 | 8 | 4 | 8 | 1 | 46
30 |CF30-1-A | 85| 35 |M30x15| 32 |37 [100/63 15| 1 | 8 | 4 | 8 | 1 | 46
30 |CF30-2-A | 90 | 35 |M30x15/ 32 [37 (10063 15| 1 | 8 | 4 | 8 | 1 | 46

E) V—ILOEREEFS0CIUT T,
* DI —RHEIETNFTVTVE BADTHIEIETEE BA.

CEZELITTD
CF12 V. M UU R-AN

IJ}OH/§ —|_ \UE’? REDM R (M19-30 35)
ms y—UNE N:ZRIU—2 =y 7L (B19-3055)
v ‘fl‘:\L_Z)'}’/fj Z’S’JI\/ TNAENTE

i WS AR

. SlaE A
oo ooumL B HENE

uu o—)fE

AT DT A TEREY v RMEE~30ICHILLE T,

SEIVYO—RETIZAIYART
FUHBZRFRL TLIEEL

https://tech.thk.com

[19-14 AnAIXK




